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a) What is meant by risk assessment? (3 marks)

b) Differentiate between Risk Management and Risk Communication.
(6 marks)

C) Give an outline of the steps involved in an effective risk assessment.
(6 marks})

d) What is the difference between a hazard and a risk? (5 marks)
e) What is risk characterization? Discuss briefly (5 marks)
Total =(25 marks)
a) What are risk matrices? (10 marks)
b) What is a hierarchy of control? Discuss the headings in the order of
effectiveness to reduce risks you have identified in the workplace.
(15 marks)
Total =(25 marks)
ion 3:

a) What are the components of a workplace health and safety risk management?
(10 marks)

b) Risk assessments may either be qualitative or quantitative. Explain the
difference(s) between the two and discuss the advantages and disadvantages
of either qualitative or quantitative risk assessment. '

(15 marks)

Total =(25 marks)

Question 4:
a) Read the following scenario and answer the questions below:

Scenario:




Five people work at the dry cleaning shop. The manager and deputy manager, who
work full time and three part-time staff. The shop is a two-storey building with a
counter at the front, where staff deals with customers and dry cleaning equipment in
the back and upstairs. The landlord has surveyed the building for asbestos and
none was found.

a) How would you undertake a risk assessment of this shop? (10 marks)
b) What types of hazards that may be encountered? Be specific. (10 marks)
c) Who might be harmed by these hazards and how? (5 marks)

Total=(25 marks)



